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He performs the mx» nb>pa and separates  — w7151 7I¥» n9wa 12

OVERVIEW

The X7 later states' that this X012 is supportive of 337 "1 who maintains that
even though there is no mourning on v"y, nevertheless the 72X must observe the
mYax regarding laws which affect him privately. The X723 states that we derive
this support to °"7 from "2 2WiIRT "2 7 X7, which the Xn*72 mentions. N1BOIN
discusses why we cannot find support to "1 from other rulings of this Xn»92.

- X713 NP HY 0927 31102 199K T KY 9293V INRY YaN 20 929°Y 0N
Before the deceased is buried he may perform the mx» n?°va, however, after the
burial, he is not permitted to be %1 nN°va 312 (since he is already an 72R), as *"
rules shortly that the private rules of mourning apply (even on v"v) -
- 5515 SEYWIND 172 YW NI 03150 JIN 93 NPT 4nY P2
And the X3 infers that our Xn»72 concurs with 117 "1 (regarding 7vi¥aw 20°727),
since the Xn> 72 states, all those days (of the nnwnn »° nyaw and the following
m>°ax °»° nvaw), he sleeps among the men, etc.

moo1n responds to a difficulty:
= 7181 NHIYI IV NN 91N NNAYI RPITT 279195 2810 MN RY XINT XY 1IN

However, from the X" of the Xn>12 here (which states 121 7712 N DR 1°0°197
mM¥» N?°va 5¥121), we cannot infer® that only when the deceased is in the room

(and the m>°2& did not begin) is he permitted the ;7137 n% w2; however once the n» is
buried and m>°aR began, he is not permitted the m¥» n?°¥2, which (seemingly) supports the view
of "1 that M1 AYI1Xaw 0°727; why was it necessary to support >"1 from the X5°0 (of 121 7w X177)?!

MooIN responds:
= MPAN 1IY HNY INNRT 19N 139910 NINND NIV HINAT IINTH S81IT

!'See footnote # (3 &) 4.
2 At this point he is considered an 1%, but not an 72X, which he becomes after the burial.
3 Later, on this 71y the X »3 cites 13m " that if someone is an 728 during 2 a1, he must observe privately (like
refraining from marital relationships) the laws of n¥2°ax (even though that publicly there is no MR on v"v).
Similarly here, after the burial, even though that it is his (personal) v"v, nevertheless he must observe m?°ax of 0117
7yIxaw and cannot be 912 (even the m¥n n?°va). See ‘Thinking it over” # 1.
4 The X3 states: M?°2ax PR 1INRY B"YR 7M1 227 MART 10 2% Y Yo oW 172 MW° XM DPWIRT P2 70 K17 0 R
31 RY1X 5w 00127 72K 791m2. The support to *"1 comes from the statement of 121 1w X177 (but not from mMxn n°ya %312
weY).
5> We are concerned that if they will be together he will be %12 her; proving that he is AvI¥aw 0°1272 M2°2R M.
6 The question is why this inference is not valid.
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Because the X3 could reject this inference and insist that 3% n»wa 12 can be
even after the M2 took effect on them. ’

n1voIN asks:
= YN NP P ND INNN DNIAN 12 PWNY 192299 HYH Yan

However the R''2w=9 has a difficulty; why cannot the X723 infer the support to

>"'9, since the Xn M2 states, W91 71X N7°v2a K1) -
— ENPYT I8N NYIYA NON 9NN RO XYY HY 099329 AT Hoan

Implying that he is 7w1°% @ 29927 273, since he was only permitted the n®>va

mxn specifically, but afterwards he is w1 since he is in M2°ax, which supports the view of
»"3 that 0"1°2 we are TVIXaw 07272 M2a8 3M1. Why do we infer it (only) from the X5°0 of 1w X1
"1)?!

n190IN answers:
- (3,70 97 2m) NHPINN P92 1IMINTI DODINA DT DIV WD 912919 3813 MNT PNNS 13929 9INY

And the °''7 answered that we cannot infer from w9, for we can say that he is

w1 because of 2¥91n2 27, as the X113 states in NN P92, but not because of Max -
= MYAN DIVN MHNT 29V PT DIVIND 121 )W NyNn YaN

However there is a proper inference from =z°wiNm? 392 > X7 that the

prohibition is because of n%aR (and not because of 2°71n2 o7) -
- 1°1mv: 909 29 9MINRTI MY MY INYUN Yryay 1922 Y1) DIV ONT

For if the prohibition is because of n173 (of 2°21n2 07), he would not be required to
sleep o°wiR7 172, for since he was already %°wa the m¥» nva (otherwise she would
not be a 7171), his wife may sleep by him (even if she is a 771) as n91° 21 rules
shortly —

mooin offers an additional proof that 7w X177 is because of M7°ax and not because of M7
= 15m5%aN DIV 139909 RNPYV TN 21 1NDIDAT ¥NIYN DN JMIN DT 1Y)

"We can explain the X092 as follows; 719112 7737 DX 1A DX 1772 N DX 1°0°191 for the purpose of the 7911 and the

wedding feast; then we bury the n», and afterward the jnn is m¥n n?°¥a %912, The X712 does not state explicitly

when the mxn n?°va 312 takes place. Therefore there is no inference from here to support >".

8 Even if we maintain that the m¥» n%°v2 may take place after the burial, nevertheless the 101 is limited to the n?wa

mxn only, but not afterward; proving the ruling of >"1.

o After the mxn n?°ya (where he is [usually] o7 X°¥1) he must be w7 seven days as if she were a 773 This is an

132772 MR, for XN 1IRTA the 2°7I02 27 is not considered N173 a7.

10°A husband is permitted to be in the same room with his 7171 wife and we are not concerned that they will have

relations (therefore n71 cannot be the cause why 151 1 R17), however by m?°ax (which is not as strict a prohibition

as 1773), even if 2¥3, nevertheless 121 7w X177 for we are concerned that they will be intimate.

' By time we reach the seven days of m?ax, there is no more 7771 M0°X (which lasts only seven days); they are
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And furthermore the phrase 27 3R 92 (which include all fourteen days of
nnaw and M2°aR), indicates that by all of these days there is one reason why X1
1, which is because of n¥97ax.

n1»oIN concludes:
= 13399 MDPANAN RNMIINT 121139IN2 29V 1995PN 2RNVNY

And now it turns out that we are more lenient regarding niX which is a

Xn"1I87, than by nv9ax, which is only 32977 -
17VNN N9 YRIN NV T10 NYIWIN 1INT 3PN

This is similar to the prohibition of wearing shoes, the obligation of wrapping

the head with a n°>v, and turning over the beds, which are observed during the Mm?°ax
period but not during MPIx (we are stricter by N12°ax more than MIx).

SUMMARY

It is possible to assume that M1¥» N?°¥2 °¥1 is after the burial, and w719 is because
of 2 7. It is only because of 121 jw° X7 that we derive the rule that 2°727
31 vaxaw. We are stricter by m»°ak more than by miix

THINKING IT OVER

1. How does mooin conclude that the mxn n%°y2 must be before the burial?'4
Perhaps it can be even after the burial and when >"1 rules that 3711 7y1X2w 0727 it
refers to the other M%°¥3, but not to the mMx» n°walld

2. Mmoo second proof that 121 J° R is on account of M?°aR and not because of 07
D°71n2 is that Xayv 77 M7 1791027.1° Perhaps it is because of 27102 o7 and the reason
they are separated in the M?°2K7 °»° NYaw is because she cannot go to the Mpn since
she is in M7ax!!’

separated only because of m>°ax and the same reason is for the nnwni *n> nyaw (because of nYI¥2 M?aR). See
“Thinking it over’ # 2.
12 Now that we say that the m¥»n n>va can take place only before the n» is buried (when he is an 11X), but not after
the nn is buried (when he is an 72x), this shows that we are stricter by m?°ax than by miix.
13 The laws of N11°X (which are Xn»11X77) are in effect from when the n» dies until he is buried.
14 See footnote # 3.
15 See X"wAn.
16 See footnote # 11.
17 See 1"2>77m and >"1m.
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